Worksheet for Understanding Integers


Integers Worksheet for Topic 6: Order of Operations

Concept: Order of Operations










Name:                               
COMPUTER COMPONENT
Instructions:        Select the computer program Understanding Integers.
                              Follow the instructions to the Main Menu.

                              Select Order of Operations from the Main Menu.

        (             Work through all sections of the following topics in order:

                                         ( Order in Addition 

                                         ( Order in Multiplication

                                         ( Why use Order of Operations?

                                         ( BODMAS

                                         ( Example Questions

                                         ( Word Problems

                                         ( Practice Questions

          (              As you work through the computer exercises, make your own notes in        

                              your notebook.

                              When you reach the end of the section Practice Questions on the 

                              computer, move on to the WORKSHEET portion of this handout.

                              

WORKSHEET
1.  Answer true or false for each of the following questions..


(a)  Addition can be performed in any order. 



 true
    false

(b) The B in BODMAS tells us to start with the outermost 

                  brackets, then work inward.




 true
    false


(c) Addition and Subtraction occur before Division and 

                  Multiplication according to the Order of Operations rules. 
 true
    false


(d) Division and Multiplication are performed from left to right.
 true
    false

2.  Find the Answer.


(a)  (+5) - (3)(2) =


(b)  (-4) + 8 ÷ 2 =



(c)  (-9)(+6) ÷ (+3) =


(d)  12 ÷ (-4) - 1(-8) =

(e)  (-10 + 2) × (8 - 1) =

(f)  -5(9 - 4 × 6) =



(g)  4[8(4 - 8) ÷ (-2)] =

(h) [((-8) + 5) × (-1)] × [(-4)(-3) ÷ (-2)] =

(i) [-8 + (-9)(3)] ÷ [(-15) - (+20)] =


(j)  (+36) ÷ [(-14) - (-11)] + (+4) =



[image: image1.wmf](k)  

3 

-

 9

(+5) 

+

 (-7)

 

=






[image: image2.wmf](l)  

9(-9 

+

 4)

 

=

(

)

-

+

´

1

2

3




[image: image3.wmf](m)  

 

=

(

)(

)

(

)(

)

(

)(

)

30

4

8

10

2

2

3

-

+

+

-





[image: image4.wmf](n)

(10)(10)

+

(4)(-5)

 

=

-

-

6

4


3.  A mechanic charges his customers £15 per visit plus £25 for every hour that he works 

     on their vehicle.  If he works on a van for 5 hours, how much will he charge the 

     customer?

4.  A grocer's shop makes a fruit basket consisting of 4 pears, 6 apples, 8 oranges, and 2 

     bananas.  If the store receives 11 orders for gift baskets on a certain day, how many   

     pieces of fruit are they using all together?  
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